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General Instructions :

Read the following instructions very carefully and strictly follow them :

(i)
(ii)
(iii)
(iv)

(v)
(vi)
(vit)
(viii)
(ix)

67/4/2

This question paper contains 34 questions. All questions are compulsory.
This question paper is divided into two parts — Part A and Part B.
Part A is compulsory for all candidates.

Part B has two options i.e. (1) Analysis of Financial Statements, and
(2) Computerised Accounting. Candidates must attempt only one of the given
options as per the subject opted in Part B.

Questions no. 1 to 16 and 27 to 30 carry 1 mark each.
Questions no. 17 to 20, 31 and 32 carry 3 marks each.
Questions no. 21, 22 and 33 carry 4 marks each.
Questions no. 23 to 26 and 34 carry 6 marks each.

There is no overall choice. However, an internal choice has been provided in
7 questions of one mark, 2 questions of three marks, 1 question of four marks
and 2 questions of six marks.

PART A
(Accounting for Partnership Firms and Companies)
Assertion (A) : Increase in the value of liabilities on reconstitution of a
firm is debited to Revaluation Account.

Reason (R): Increase in the value of liabilities is a loss.

Select the correct alternative from the following : 1
(a)  Assertion (A) is correct, but Reason (R) is wrong.
(b)  Assertion (A) is wrong, but Reason (R) is correct.

(¢) Both Assertion (A) and Reason (R) are correct and Reason (R) is
the correct explanation of Assertion (A).

(d)  Both Assertion (A) and Reason (R) are wrong.
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1T HIcqi+ 1e8fa #1 9T a9 39 & 73 o7 & STaR T 397 &1 2 797

3 & I Frw :
ShITE, I qAT JIRI AISIER 9 AT 3 : 2 : 1 h UG H TIH-BIH dfed & | 3Teh!
TR St AR T 12,00,000, T 10,00,000 T€1 T 8,00,000 off | ¥F WRHIA TS
6 ISt M =S 10% arfies X & fean S | JreieR 791 TR & 9a9 o §heR
U

*IE T 5,000 Wi ATE qAT FHEOO T 3,000 Tt fomTE |

31 9T=, 2022 ! HHTH §T 9N H %H 1 A T 6,72,000 T |

2. HEEN % ¥ @Al % 991 98 § G W S 9°1 9aq @ fIw wa i
I et Tiw off

(a) %@ T 1,20,000, FM T 1,00,000 IR FH T 80,000
(b)  h¥E T 1,80,000, FM T 1,12,000 3R TR T 80,000
(¢) 3@ T 60,000, FM T 12,000 3R G T I

(d H¥E T 3,30,000, F0 T 2,12,000 R G T 1,30,000

3.  UISCN o 9] @Al H gEAT-aid hl ST aTelt T <hl T off
(a) A T 1,00,000, F T 1,50,000 T TH T 50,000
(b) A T 50,000, FT T 1,50,000 q° TR < 1,00,000
(¢) %@ T 1,50,000,F T 1,00,000 T T T 50,000
(d) WA T 1,51,500, FW0 T 1,01,000 9 T T 50,500

o NN

4. () U fafies 3 T 100 I&F F 2,00,000, 7% FOGE B 5% qg W
frifia foren, fSeept Tiem 59 iftem 9w e B | kot & e @
g qA Wed R Nifrm o1 o@n Seome e g1le @@l & wesw 9
foram T | RO % TR W Sroe R B @’ 8 @ B
TrlTlI"ﬁ :
(a) ¥ 10,00,000 & 4T 9&T |
(b) ¥ 10,00,000 ¥ =19 9& ¥
(¢) ¥ 20,00,000% ¥ 9T A
(d ¥ 20,00,000 ¥ SHT 9&T H

AT
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Read the following hypothetical situation and answer questions number

2 and 3 on the basis of the given information :

Keshav, Krishna and Murari were in partnership sharing profits and
losses in the ratio of 3 : 2 : 1. Their fixed capitals were : ¥ 12,00,000,
< 10,00,000 and ¥ 8,00,000 respectively. It was agreed that interest on
capital will be allowed at 10% per annum. Partners were entitled to

salaries as follows :
Keshav ¥ 5,000 per month and Krishna ¥ 3,000 per quarter.
Profit of the firm for the year ended 315* March, 2022 was ¥ 6,72,000.

2. Amount credited to the Partners’ Current Accounts on account of ‘interest

on capital’ and ‘salary’ was :

(a)
(b)
(c)
(d)

3. Amount of profit transferred to Partners’ Current Accounts was :

(a)
(b)
(c)
(d)

4. (1)

67/4/2

Keshav ¥ 1,20,000, Krishna ¥ 1,00,000 and Murari ¥ 80,000
Keshav ¥ 1,80,000, Krishna ¥ 1,12,000 and Murari ¥ 80,000
Keshav ¥ 60,000, Krishna ¥ 12,000 and Murari ¥ Nil

Keshav ¥ 3,30,000, Krishna ¥ 2,12,000 and Murari 1,30,000

Keshav ¥ 1,00,000, Krishna ¥ 1,50,000 and Murari T 50,000
Keshav T 50,000, Krishna ¥ 1,50,000 and Murari ¥ 1,00,000
Keshav T 1,50,000, Krishna ¥ 1,00,000 and Murari ¥ 50,000
Keshav ¥ 1,51,500, Krishna ¥ 1,01,000 and Murari ¥ 50,500

Anuradha Ltd. issued 2,00,000, 7% debentures of ¥ 100 each at a
discount of 5% redeemable at a premium of 5%. Discount on issue
and premium on redemption were accounted for through ‘Loss on
Issue of Debentures Account.” On issue of debentures, ‘Loss on
Issue of Debentures Account’ will be : 1

(a)  Credited by ¥ 10,00,000
(b) Debited by ¥ 10,00,000
(c) Debited by ¥ 20,00,000
(d)  Credited by ¥ 20,00,000

OR
~~~~ Page 5 P.T.O.
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(i1)

et fafies 9 T 100 TF % 4,000, 9% RO I 10% G2 R Fifa
Tora frmept sem it W fomen S o | SeorEt o e @ w87 iR
SroraE o e Wi 1 @ Swogs i g1 @’ & Jiesw 9
foram | =fe Soo T 1R @ ® T 60,000 9, A1 RO
e )X Sifeem <6 afst oft

(a) T 60,000 (b) T 40,000

(¢) ¥ 20,000 (d T 80,000

fosa qu oIS TH ®H % HEER & | Gl o o STIER TR W
12% aTfteh a0 T =T &3 SO | AT W I &bl ATH-81H faf e @ |

gEddiid i & folu fy=faRad @ & -8 @d & 9M 98 § @diHl <hl
STt ?

(a)
(b)
(c)
(d)

(1)

(i1)

greieii < =Te] @

[Tl % ISt @

qaEd ffide 9 T 10 I % 50,000 THAT 7901 i T ey R Frifaa

gﬁ%ﬁdq&u&cﬁ st fepu | ufa ster ufyt 1 ymam f= yer @
g7 .

JATEET W T 3; e W T 4 9971 JIH T Af<H IJ=AT W T 3 |

1,45,000 BT 311 % o7 319G W Y | 20,000 37T h A Pl

T8 L TG T QT I TG Wl AT YR T 379N hT 3TTEeA

foram T | 3TEeT W T IAfafch TS 1 SHRISE 3TEed dAT Y Ud

A\ I W T TR A o o= | W I @id o S 9eT |

CARIERCICIRCARV N

(a) T 2,25,000 (b) T 25,000
e ¥ 1,75,000 @ I
AT

arfiea gSht o fawer 0 frafoifaa & @ ®H-a1 Fom d 8 2

(a) Ig W Yot 1 9 TR & & geen & sfgtHomi & 3aR
FHrot frea % fore stfiepa @ |

(b) %ﬁﬂﬁ@ﬂ%m%ﬁﬁm%%@mﬁ
Tt &9 ¥ fifha fomem mam 3 |

(c) %‘s'ﬁ’r&lﬁﬁwa%w%ﬁiﬁwmﬁqlmqﬁaﬁaﬁ%m
|

(d) Ig IAfaa (AT ) ISl 1 98 W & 8 Smaiehl § ariae
w9 UH fha T B |
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(i1) Diksha Ltd. issued 4,000, 9% Debentures of ¥ 100 each at a
discount of 10%, redeemable at a premium. ‘Discount on Issue of
Debentures’ and ‘Premium on Redemption of Debentures’ were
accounted for through ‘Loss on Issue of Debentures Account’. If the
amount of ‘Loss on Issue of Debentures Account’ was ¥ 60,000,

then the amount of premium on redemption was : 1
(a) ¥ 60,000 (b) T 40,000
(c) < 20,000 (d) < 80,000

Vijay and Ajay are partners in a firm. The partnership agreement
provides for interest on drawings @ 12% per annum. Which of the
following account will be debited to transfer interest on drawings to
Profit and Loss Appropriation A/c ? 1

(a)  Interest on Drawings Account
(b)  Bank Account

(c) Partners’ Current Account

(d)  Partners’ Capital Account

(1) Manmohan Ltd. invited applications for issuing 50,000 equity
shares of ¥ 10 each at par. The amount payable per share was as
follows :

On application ¥ 3; on allotment ¥ 4 and on first and final
call ¥ 3.

Applications were received for 1,45,000 equity shares. Applications
for 20,000 equity shares were rejected and remaining applicants
were allotted shares on a pro-rata basis. Excess application money
received with application was adjusted towards sums due on
allotment and first and final call. Amount credited to

calls-in-advance account was : 1
(a) < 2,25,000 (b) < 25,000
(c) < 1,75,000 (d Nil
OR
(i1))  Which of the following statement is correct regarding subscribed
capital ? 1

(a) It is the amount of share capital which a company is
authorised to issue by its Memorandum of Association.

(b) It is that part of authorised capital which is actually issued
to the public for subscription.

(c) It is that part of the issued capital which has been actually
subscribed by the public.

(d) It is that part of the called-up capital which has been
actually received from shareholders.

~~~~ Page 7 P.T.O.
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e (AT T8 Tg) A% YSit b1 a8 W fSrehl ATEET hadl U o foered @
THI & hl ST Tehdl 8, hadld! & :

(a) Tifia 90
(b)  Ed St

(c) @fwa goit
(d) oifrifaa gsh

Teh BH & foges w fefq faemor & evrien mn wf=r T 2,00,000 o1 | Hi=R
HT 50% Th ATHER 5 T 65,000 H o o= a1 3 50% ! & Jed 9 20%
A 9T S=T AT | S @Td o ATH U § @il <kl e TisT of

(a) T 1,45,000
(b) T 80,000
(¢ T 65,000
d T 1,85,000

g e 3 T 10 I3 & 5,000 gHAT 319, = T 5 Ifd T3 & M w
it fopem o o, = 4 wfq o7 i wow w@ 3Afaw IMEAT T PTAE T HH W
0T Y ToTaT | 801 R 3131 80T WTd’ o STHT 98T H @di-t shl T8 TRT B

(a) ¥ 20,000
(b) ¥ 30,000
(c) < 50,000
(d ¥ 55,000

T, G q7 T Sl BH & e | R 9 Il S99 981 i % g
Tead gafl ek T 38 T 14,500 1 TaM foham T | sqelt < et
-1 T 11,000 T YTAH R gRT foham T |

T & St Wid & ST vt § @l <l S et iy gt

(a) ¥ 11,000
(b) T 3,500

¢ T 14,500
d T 25,500

~~~~ Page 8



7. Part of the uncalled share capital that can be called up only at the time of
winding up of the company is called : 1

(a)  Issued capital
(b)  Paid-up capital
(c) Reserve capital

(d)  Un-issued capital

8. On dissolution of a partnership firm, furniture appearing in the Balance
Sheet was ¥ 2,00,000. 50% of the furniture was taken over by a partner
at ¥ 65,000 and balance 50% was sold at 20% less than the book value.

The amount debited to bank account was : 1
(a) ¥ 1,45,000

(b) < 80,000

(c) T 65,000

(d ¥ 1,85,000

9. Chavi Ltd. forfeited 5,000 equity shares of ¥ 10 each issued at a
premium of ¥ 5 per share for non-payment of first and final call of ¥ 4

per share. On forfeiture, ‘Share Forfeiture Account’ will be credited by : 1
(a) ¥ 20,000
(b) < 30,000
(c) < 50,000
(d) < 55,000

10. On dissolution of the firm of Ramesh, Suresh and Naresh, Naresh had
agreed to bear all realisation expenses for which he was paid ¥ 14,500.

Actual expenses on realisation amounted to ¥ 11,000 which were paid by

Naresh. The amount to be credited to Naresh’s capital account will be : 1
(a) ¥ 11,000

(b) ¥ 3,500

(c) T 14,500

(d) T 25,500

67/4/2 ~~~ Page 9 P.T.O.



11. gorar fafies 9 T 100 I% & 5,000, 7% Fo9AT &1 fEa 10% Hfm
foRe | fefoer st Srat o STTER TMRT 1 40% AdET T a1 3§ A& W <
of | frfm qut &9 @ rfered g1 den quf TfSt wrw &) M | MeE a9 ATeeA

9T YTH T hys: off

(a)
(b)
(c)
(d)

12. @)
(i1)

13. @)

67/4/2

T 2,50,000 A1 T 3,00,000
T 2,00,000 9T T 3,00,000
T 2,00,000 q1 T 3,50,000
T 2,00,000 qT T 2,50,000

379, W qAT T Toh BH § TIEER ¥ AT 5:3: 2 % M B AT B
fawTsH ot o | 1 ST, 2022 i A 1 g 8 T | 31g q |,
HI % WA o1 AR 1 T § &l

(@ 1:1 (b)

(¢ 5:3 (d)

AT

fafea, giia qen Hiar v w4 o AEER & G 4 : 3 : 19 3T § AT
&1 foaeH d & | Hiar w1 Fem 8 T qen e a9 fafea 9 @
foren | fafea qen giwa =1 7o ar9-favtem s1gama g

(@ 1:1 (b) 5:3

(c) 3:5 d 5:2

A, THh FEGR 4 1 FaE, 2020 H T 1,20,000 T KT FBH hI
fean | wrger doiw B srqufeafa @ 31 9, 2021 O W T =AW
< s el

(a) ¥ 3,600 (b) ¥ 7,200
(c) T 12,000 (d ¥ 6,000
AT

~~~~ Page 10



11. Sujata Ltd. issued 5,000, 7% Debentures of ¥ 100 each at a premium of
10%. According to the terms of issue, 40% of the amount was payable on

application and the balance on allotment. The issue was fully subscribed

and all amounts were duly received. The amounts received on application

and allotment respectively were :

(a)
(b)

(c)
(d)

12. ()
(i1)

13. (@)

67/4/2

¥ 2,50,000 and ¥ 3,00,000
¥ 2,00,000 and T 3,00,000

¥ 2,00,000 and ¥ 3,50,000
¥ 2,00,000 and ¥ 2,50,000

Anu, Monu and Sonu were partners in a firm sharing profits in the
ratio of 5 : 3 : 2. Monu died on 15t January, 2022. Anu and Sonu

will acquire Monu’s share in the ratio of :

(@ 1:1 (b) 3:2

() 5:3 d 5:2
OR

Vidit, Sumit and Mita were partners in a firm sharing profits in
the ratio of 4 : 3 : 1. Mita died and her entire share was taken up
by Vidit. The new profit sharing ratio of Vidit and Sumit will be :
(a 1:1 (b) 5:3

() 3:5 d 5:2

On 18t October 2020, Amit, a partner, advanced a loan of
T 1,20,000 to the firm. In the absence of partnership deed, the

amount of interest on loan to be paid on 315t March, 2021 will be :

(a) ¥ 3,600 (b) ¥ 7,200
(c) < 12,000 (d ¥ 6,000
OR

1

~~~~ Page 11 P.T.O.
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(1)

(i1)

fora, 319 d9T IS Ush ®H o HEICR & d9 ATH-8IH :
&qudfronddél%m 2021 %I T 1 g & T8 ﬂ?ﬂ?ﬁﬁlﬁl
qoh HH o Al | ST YN shl AT T 75,000 hl TS

fafalRaa § 9 98 @@ & 9 9 § i e ?

() ATH-IH 39d Gl

(b)  ATH-ETH @raT

(¢) Y-gIH fafrasm @

(d) Y-S SRS T

e qen guoft v % § AEER & 91 32 o STJUId H ATH-gIH died

9 | 1399, 2022 § o ATHI I ST died & oy w@gad g | BH

i TG T Yo T 3,00,000 foham w1 | wuRISE ffifea 9 |

ferd o e grr feman e 2

(a) HOft & 9 98 d T 30,000 a1 T o @1 9 H T 30,000 H
QA |

(b) o s 9m war & T 30,000 au1 goft & @1 v H T 30,000 Hi
A |

(¢) Hoft & 9@ gg ¥ T 3,000 o1 f&n & w1 9 & T 3,000 i
QA |

(d) fon e amum § T 3,000 au gueft & @1 9 ¥ T 3,000 I
QA |

HYAT

T, GHA AT Aifgd Teh HH § AT9ER 9 A1 8:5: 3 h 314 § ATHI
&1 fauTeq wd 9 | 1 318, 2022 ¥ 38 I8 v foren fo wfasy 4 9
AT 1 TI9TSE 5: 6 : 5 % 39 § &yl | fEfafed § @ amv-faarse
AT | qHEc o 0T HATHERI o ATUAH I TN hl Tg=H hil :

(a) :lmwaqﬁ:lw%qli ngWﬂl*ll—Iﬁ'%ﬁ FEIT’T%
(b) ﬂuawwluﬁ,gﬂqwaﬁw%#ﬁ,ﬁ%ﬁwafw%

(¢)  TTHT Bl oM 3,@?%3@@1&4 i,iﬁ%ﬁw AT %

(d) qﬂqu%qli,gwwwml—iﬁw%a RIT’T%
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(i1)  Vijay, Ajay and Sanjay are partners in a firm sharing profits and
losses in the ratio of 7 : 5 : 8. Sanjay died on 28t August, 2021. His
share in the profits of the firm till the date of his death was
determined at ¥ 75,000. It will be debited to which of the following
accounts ? 1
(a)  Profit and Loss Suspense Account
(b)  Profit and Loss Account
(c) Profit and Loss Appropriation Account
(d)  Profit and Loss Adjustment Account

14. (1) Ria and Surbhi were partners in a firm sharing profits and losses
in the ratio of 3 : 2. With effect from 15t April, 2022, they agreed to
share profits equally. The goodwill of the firm was valued at
T 3,00,000. The adjustment will be done by which of the following
transaction ? 1
(a)  Debiting Surbhi’s account by ¥ 30,000 and crediting Ria’s
account by ¥ 30,000.

(b)  Debiting Ria’s account by ¥ 30,000 and crediting Surbhi’s
account by ¥ 30,000.

(c) Debiting Surbhi’s account by ¥ 3,000 and crediting Ria’s
account by ¥ 3,000.

(d)  Debiting Ria’s account by I 3,000 and crediting Surbhi’s
account by ¥ 3,000.

OR

(i) Naman, Suman and Mohit were partners in a firm sharing profits
in the ratio 8 : 5 : 3. With effect from 15* April, 2022, they decided
that in future, they will share the profits in the ratio 5 : 6 : 5.
Identify the gain or sacrifice by the partners due to change in

profit sharing ratio, from the following : 1
(a) Naman’s gain 3 , Suman’s sacrifice 1 , Mohit’s sacrifice 2
16 16 16
, . 3 , .1 s .2
(b)  Naman’s sacrifice —, Suman’s gain —, Mohit’s gain —
16 16 16
, . 3 , .2 s .1
(c) Naman’s sacrifice —, Suman’s gain — , Mohit’s gain —
16 16 16
, . 3 , . 2 s . 1
(d) Naman’s gain —, Suman’s sacrifice —, Mohit’s sacrifice —
16 16 16

67/4/2 ~~~ Page 13 P.T.O.



15. &, 99 qn o AEER O 991 403 0 2 STIUM H AW Sicd o | BH %
qTe W e q9r T Yedsh 39 Wi H 9 % 9T e i <d § | e, T

qen e o1 = Ary-fawTsH s1gdTa g

(a) 3:4:2

(b) 2:3:4

(c) 4:2:3

d 3:2:4

16. U ®H ! BT i AT IS IR 9Nl o 37{d &9 o I a6 & T
TR Wl T8 | 31 9T ! GTH gC st = ol o a9 o

o @ /7 ()
2018 — 19 (14,500)
2019 — 20 15,400
2020 — 21 32,900
2021 — 22 16,800

®H 1 TR T oI BT

(a) T 8,885

(b) T 37,950

(©) T 58,950

d T 20,690

17. fifq qen stfefa v o i areier off qur 2 : 3% U ° 9B 1 faarE
el off | SR e & i R ae J e s
39+ fifa dunr sAfefa & SUst-aUsk fmifed fobm | S W IS % &9 A
T 5,00,000 q1 Tl HiftRm % ®9 § T 1,00,000 @R1 | W HEER GRT
W%%WWWW%MTWI
%l 61 TEAhl T ITYTH Al oh TOT0 39 UsiHTHal Ifafsedt i |
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15.

16.

17.

67/4/2

Niva, Naman and Nityam were partners sharing profits in the ratio of
4 : 3 : 2. Niva and Naman each give — from their share to Nityam on
reconstitution of the firm. The new profit sharing ratio among Niva,

Naman and Nityam will be : 1
(a) 3:4:2
(b) 2:3:4
(c) 4:2:3
d 3:2:4

The goodwill of a firm was valued on the basis of 3 years purchase of
average profits for the last four years. The profits of last four years
ending 315t March were as follows :

Year Profit/Loss (3)
2018 -19 (14,500)
2019 - 20 15,400
2020 - 21 32,900
2021 — 22 16,800
The value of goodwill of the firm was : 1
(a) T 8,885
(b) % 37,950
(c) T 58,950
d < 20,690

Niti and Aditi were partners in a firm sharing profits and losses in the
ratio of 2 : 3. They admitted John into partnership for ith share in the
profits of the firm, which he acquired equally from Niti and Aditi. John
brought ¥ 5,00,000 as his capital and ¥ 1,00,000 as premium for
goodwill. One-fourth of the goodwill was withdrawn by the old partners.
Pass necessary journal entries for the above transactions in the books of

the firm. 3
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1 30, 2021 & fgaw fafes 3 uoa s it < 8,00,000 i
giEafaai 9em T 40,000 <l SIAIST T AWEW T 8,30,000 5
%d Oed W fohan | fgaw fafies 3 woe fafies it yam 7= y&r &
EI

(i) ¥ 2,00,000 I Th TR gL AT T ATE T2 I off, qe

(i) Woa fAfee +1 AT 5 oI H PAHE T 100 T&AF 6 10%
O] Rl 10% S T rifya wwtep fopam mm |

39 el o1 fgdw fafies 1 qxdeni ® of@l & o T 3Tewae
o= Sfafsear i |

AAAT

fesm faafade 9 T 100 &% % 500 = hl = 10% Hfm
fortfia femem o o qen o9 @ = 90 ufa o o w9, T 30 ufq W
mees (Sifiem |fgd) dom = 20 Ui 3191 YoM AT=HT 1 PTAE 7 HH W
&1 L Tt | 390 | 300 37901 I T 80 Wd 379 Ui g gA:frifha &
feom |

3TRMT ok BT AT GH: 1A 1 Tawereh UsiATe= Jfafsear i |

HifehT, WfeepT AT HHITCTH AR & A1 6 : 4 : 1 TJI1d § ATH
Sl & | HHICTST sl ATH T T4 9W & fI¢ T 3,00,000 hHT =[IaH
st it A @ T R |31 "G, 2022 I THM FC a9 F BH R
T 22,00,000 T g ATH g |

31 Hr=l, 2022 %! FHH BT a9 & [AC HH 1 AH-MH faf=aem @
TR HITY |

AAAT
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18. (a) On 15t April, 2021, Hitesh Ltd. took over assets of ¥ 8,00,000 and
liabilities of ¥ 40,000 of Pranjal Ltd. at an agreed value of
T 8,30,000. Hitesh Ltd. paid the amount to Pranjal Ltd. as

follows :

(1) Gave an acceptance payable after 3 months for ¥ 2,00,000,
and

(i1)  Issued 10% Debentures of ¥ 100 each at a discount of 10%
to Pranjal Ltd. in satisfaction of the balance amount of
purchase consideration.

Pass the necessary journal entries to record the above transaction
in the books of Hitesh Ltd. 3

OR

(b)  Disha Ltd. forfeited 500 shares of ¥ 100 each issued at 10%
premium, I 90 called up, on which the shareholders did not pay
T 30 per share on allotment (including premium) and first call of
T 20 per share. Out of these, 300 shares were reissued for ¥ 80
per share, fully paid up.

Pass necessary journal entries for forfeiture and reissue of shares. 3

19. (a) Monika, Bhoomika and Kamolika are partners sharing profits in
the ratio of 6 : 4 : 1. Kamolika is guaranteed a minimum amount of
T 3,00,000 as her share in profits. The firm earned a net profit of
T 22,00,000 for the year ended 315t March 2022.
Prepare Profit and Loss Appropriation Account of the firm for the
year ended 315t March, 2022. 3

OR

67/4/2 ~~~ Page 17 P.T.O.
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(@) o=, 9t qon Aicd Tk wH H greier off qur IRl ISt shu:
T 3,00,000, T 2,00,000 94T T 1,00,000 i |
IS TAE % JEUHl AR
(i) =T qAT FleAt ¥k T 1,500 HIfEeh 9 bl geher of |
(i) W& T 4,000 TS Id hl FeheR ot |

o

39YTh |ETESEl i fRU fodT 31 #TE, 2022 1 WA FC 9Y 6 AW

T 80,000 I ATEERT & o9 3T T9-faursH 3@ 3 :3: 2 # 9
e

30 I 1 IR HE ok [0 BH I Rl H SAERIS IS
gfafse e | 1ot wrf fewforn w5 wose w9 @ gifzu |

TS, Hgh ad1 T T ®H o AeigR & 9u1 2:2: 1 o 3FI1d H AT9-g1H 1
fauem ot & | 3R ISt A T 6,00,000, T 4,00,000 AT T 2,00,000
off | TTeier) Torg § fafafgd =1 graem o

(%) 8% =f¥eh o | YSit W = |
(@) 6% a1f¥eh g | IMEO W A |
(7)  H I ATPIER gRT ST T RO W 5% aTfYe @ | =W |

9 % GRE TS 4 1 3FER, 2021 &I T 12,000 T AT FohAT STafsh Tgh
1 fegwsit, 2021 1 T 60,000 T ATEL fomaT |

1 SHadl, 2021 i feean 3 w1 1 T 1,20,000 1 k0T feam |

31 HrE, 2022 1 GHH g oY o fou fffed el i wH sl gedeni |
3TERFe U= Sfafsedr 6T

(i) TS S WA JgH i o AT |

(i) &% o IMEW T I ARG i o T |

(Gii) feeam gro wH A1 feu U ot WS Yo i & o |

gy & Y wd B @/ vg ' fafem @ |9, S ot feafa a,
g gfafseat i |
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(b)  Ananya, Bhavi and Chandni were partners in a firm with capitals
of ¥ 3,00,000, ¥ 2,00,000 and T 1,00,000 respectively.

According to the provisions of the partnership deed :

(1) Ananya and Chandni were each entitled to a monthly salary
of T 1,500.

(i1)  Bhavi was entitled to a salary of ¥ 4,000 per annum.

The profit for the year ended 315t March, 2022, ¥ 80,000 was
divided between the partners in their profit sharing ratio of 3 : 3 : 2

without providing for the above adjustments.

Pass the necessary adjustment entry to rectify the above omissions

in the books of the firm. Show your working notes clearly.

Raj, Mehak and Divya were partners in a firm sharing profits and losses
in the ratio of 2 : 2 : 1. Their respective capitals were : ¥ 6,00,000,
T 4,00,000 and ¥ 2,00,000. The partnership deed provided for the
following :

(a) Interest on capital @ 8% per annum.

(b)  Interest on drawings @ 6% per annum.

(c) Interest on partner’s loan to the firm @ 5% per annum.

During the year, Raj had withdrawn ¥ 12,000 on 15t October, 2021, while
Mehak withdrew ¥ 60,000 on 15t December, 2021.

On 15t January, 2021, Divya had given a loan of ¥ 1,20,000 to the firm.

Pass the necessary journal entries in the books of the firm for the
following transactions for the year ended 315t March, 2022 :

(1) Allowing interest on Raj’s capital.
(i1))  Charging interest on Mehak’s drawings.
(iii) Providing interest on loan given to the firm by Divya.

Also pass transfer entries in the Profit and Loss Account/Profit and Loss

Appropriation Account, as the case may be.
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TR fafide i T 10 Y= % d9al =M | fawd T 20,00,000 i ATehd
gt off | ®E 9 60,000 I o TR % U sted mwb@ TR |
58,000 3791 % 1T 3TEEA 9= TH 7 |

guft JreATE {I Sl TS qAr 2,000 M W T 3 Ul I <kl AfH T B
Biend Gt ITH 81 T8 | 37 3T BT 8007 T foram T |

Ht AfufEm, 2013 1 FIET I, AW I % JJIR A ISl Sl U &
feyfa foator o quis | 35 & fou wmi & A’ off TR i |

JehTST, SIS AT TIehd Ueh SIa@TT o TSGR & QAT 2 : 2 : 1 % U |
AT ! Sied o | 319, 2022 i 3R et foawor =1 g o

31 |, 2022 1 TeRTIT, ATRTI a7 fererta ot feafa ferawom

- ufT . 1131
ISEALS 2.,00,000 | §<h 40,000
= 9= 1,00,000 | Tsh 60,000
il LA 1,60,000
FEIN 1,20,000 IEER 1,40,000
IEAN 2,00,000 FTe 70,000
IEEAL] 80,000 4,00,000 | Y& 2.30,000
7,00,000 7,00,000

30 faaes, 2022 I oM™ 61 Tog 81 T8 | Th ATIER i oI W AEERT To@
CRE= AR CLICIE

(1) g hl TdlY d% Fash HIEIGR I A9 H IGeh1 W SRl 0T, fUsd
Y o ATH o SMUR T H A |

(i) B I a4 3IGh1 U1 rEehl oA isd 9r 9wt & SfEd oY %
T 9T o ShT oh STMYR W <hl ST |
31 TTd =1 TuTH fUse 9r a¥i & oy = TR o ¢
2018 - 19, ¥ 1,60,000; 2019 — 20, ¥ 1,00,000; 2020 - 21, T 80,000
dadar 2021 - 22, T 60,000.

~~~~ Page 20



21. Sunstar Ltd. has an authorised capital of ¥ 20,00,000 divided into equity
shares of ¥ 10 each. The company invited applications for issuing 60,000
shares. Applications were received for 58,000 shares.

All calls were made and were duly received except the final call of ¥ 3
per share on 2,000 shares. These shares were forfeited.

Present the ‘Share Capital’ in the Balance Sheet of the Company as per
Schedule III, Part I of the Companies Act, 2013. Also prepare ‘Notes to
Accounts’ for the same. 4

22. Prakash, Aakash and Vikas were partners in a business sharing profits
in the ratio of 2 : 2 : 1. Their Balance Sheet as at 315t March, 2022 was as
follows:

Balance Sheet of Prakash, Aakash and Vikas as at 315t March, 2022

Liabilities AmOUDt |\ cets Amount
Creditors 2,00,000 | Bank 40,000
General Reserve 1,00,000 | Stock 60,000
Debtors 1,60,000
Capitals : Investments 1,40,000
Prakash 1,20,000 Furniture 70,000
Aakash 2,00,000 Building 2,30,000
Vikas 80,000 | 4,00,000
7,00,000 7,00,000

Vikas died on 30th September, 2022. On the death of a partner the
partnership deed provided for the following :

(i)  Deceased partner will be entitled to his share of profit up to the
date of death calculated on the basis of previous year’s profit.

(i1) His share in the Goodwill of the firm, calculated on the basis of
3 years purchase of average profits of last four years. Profits for

last four years ended 315t March were as follows :

2018 — 19, T 1,60,000; 2019 — 20, T 1,00,000; 2020 — 21, T 80,000
and 2021 — 22, T 60,000.

67/4/2 ~~~~
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(i) g K fafey Tk ga TSR T AR T 20,000 T |
(iv) Yol &S 12% arfves &€ 9 feon s |
fopTa o ITUTUERITGT 1 TEqd S o foIQ foehrd &1 ISl @rar aar i |

frafafaa affeafoat o g foafiee f gt o 12% wowEt & fefga 6
TSI U= Tfafsedr i :

(i) T 100 I¥% & 1,000, 12% KOG 1 T 10% g W fhan =
e w89 Wiftem W foman ST 2 |

(i) ¥ 100 Y¥% o 4,000, 12% FOMGHAT bl HHA 5% Hiftem w fohan m
e Wea 10% Mftem w foen ST 3 |

(i) ¥ 100 Y% % 5,000, 12% FOE H1 w0 10% Hfem qx frar mn
SeRT =Mee e R ST R

hTfdeh dAT HUT shl BH o faeed R foafie gimmataa (Yo & sifdficn) qen

Rl AT HI TS @Id H TR o U9EN HHfIRgd oieAl o foTg
RIS TSI Hfafsedr it

(i)  HIfde 5 BH T 12,000 1 FK0 e feeh fafeea yraE ot fen
R

Gi) To=ea < fafs w aw=fE @@ & am 9§ F 15,000 1 99 o |

(i) TN A, ek ®H W T 24,000 T 9, I H9eE § T 23,000
T2ieh TR L T |

(iv) T A9 o 1 or@r ®H i gt § F@0 fohal T o, A |
T 31,000 ® o foam |

(v) ohIfdeh 319 9T % T 16,000 KU 1 YIAH i o oI TgHd @l
T |

(vi) ¥ 60,000 % HA= Bl 10% AT R &9 &3 M |

~ Page 22

4



23.

24.

67/4/2

(iii) Drawings of the deceased partner up to the date of death were
T 20,000.

(iv) Interest on capital was allowed @ 12% per annum.

Prepare Vikas’s Capital account to be rendered to his executors.

Pass necessary journal entries for issue of 12% Debentures in the books
of Hemant Ltd. in the following cases :

(1) Issued 1,000, 12% Debentures of T 100 each at a discount of 10%,
redeemable at a premium of 8%.

(ii)  Issued 4,000, 12% Debentures of ¥ 100 each at a premium of 5%,
redeemable at a premium of 10%.

(iii) Issued 5,000, 12% Debentures of ¥ 100 each at a premium of 10%,
redeemable at par.

Pass the necessary journal entries for the following transactions on
dissolution of the firm of Kartik and Karan after various assets (other
than cash) and outside liabilities have been transferred to Realisation

Account :

(1) Kartik had given a loan of ¥ 12,000 to the firm which was duly
paid.

(ii)  Profit and Loss Account was showing a debit balance of ¥ 15,000
on the date of dissolution.

(iii) Creditors to whom the firm owed ¥ 24,000 accepted stock of
T 23,000 in full settlement.

(iv) A machine which was not recorded in the books of the firm was
taken over by Karan at ¥ 31,000.

(v)  Kartik agreed to pay his brother’s loan of ¥ 16,000.

(vi)  Furniture of ¥ 60,000 was sold at a profit of 10%.

~~~~ Page 23 P.T.O.



67/4/2

Iy fafides 3 T 10 9% & 50,000 THAT 3TN DI 10% HRHE W
fifta st o o7 e etHfaa fpe | Uiy w1 Yam = yoem @ @@
qT .

e W T 3 Ul A90; A& R (fiftem wfga) T 3 gia 311 aun yem
Tg AW AT AW AT

1,20,000 30 % {IC TG TTH Y | ST 1 3MeA IAITIGH TR
w ot SAegwl W fEm T | 3ded WUt oAfafs TR
TS € W e T H T eI ™7 | 3T€e W e 3Aded Uiy 9
JAfeyeh [T a9 o & T | U IWURS e 6,000 M & U
3T foham o, gem wg SAfeqw Fr=AT U 1 YA &1 L Hehl qel
3Gk ST T FOT H ol T | T RT Q3T T T 60,000 O
vea qA:Fifa s feam e |

3T e o ToTT w1 fafide <1 qeaenl © 3Tawereh s Sfafseat

I |

AT

A1 fAfies 9 T 10 I % 5,00,000 HAT 37T Hl 10% HiRH W
fiftg e o fow s g=ies I fomen | afsr 1 ymae = geer @
izf?ﬂ:

e W T 3 9fd 379, ofeed W (fiftrw afgd) T 5 gfa srer qem vum
Tg Al I | T 3 Tl 379 |

6,00,000 3T % fAC AEGH WH Y a1 Gl 3TMeGhl hl IR
IR W e HL T T | AT Wy Afdieh 9= a1
UG 3TEed W ¢ Ui ¥ & fear mam | &sft o ufsr uw & e,
hadl gt @ 3fdafh, St 1,000 3TN 61 9 o1, a7 A€ 9 JIH
Ug 3IfcH IMEET BT PTAHE A B TEHA @ | 3Hb M T 8O B
forem |

arerar fAfeg 1 geaehl § IUYh Gl o [olU TTawdesh  USHTH
yfafseat HifST | T8l 9y 8 3fed I @il ity |
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25. (a) Yash Ltd. invited applications for 50,000 equity shares of ¥10 each
at a premium of 10%. The amount was payable as follows :
On application ¥ 3 per share; on allotment (including premium)
T 3 per share and on first and final call, the balance amount.
Applications were received for 1,20,000 shares and shares were
allotted on pro-rata basis to all applicants. The excess money
received on application was to be adjusted towards sums due on
allotment. Application money in excess of sums due on allotment
was refunded. A shareholder who applied for 6,000 shares could
not pay the first and final call money and his shares were forfeited.
The forfeited shares were reissued for ¥ 60,000 fully paid up.

Pass necessary journal entries for the above transactions in the
books of Yash Ltd. 6

OR

(b)  Ajanta Ltd. issued a prospectus inviting applications for issuing
5,00,000 equity shares of ¥ 10 each issued at a premium of 10%.
The amount was payable as follows :
On application — ¥ 3 per share
On allotment (including premium) — ¥ 5 per share
On first and final call — ¥ 3 per share
Applications were received for 6,00,000 shares and pro-rata
allotment was made to all applicants. Excess money received on
application was adjusted towards sums due on allotment. All
amounts were duly received except from Sumit, who was the

holder of 1,000 shares, and failed to pay the allotment and first

and final call. His shares were forfeited.

Pass journal entries for the above transactions in the books of

Ajanta Ltd. Open calls-in-arrears account wherever necessary. 6
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(%) oW a1 B9 TH BH hHI AEIGR off qAT 5 : 3 o AT H ATH-ZIH Siedt
off | 1 310, 2022 &l 384 Afefd I Tk FEER sAR=T | 39 fafyr =i
Ikt Teafa foawo = weor o

1 379, 2022 T YU a1 ST o7 Trfa foraon

St iy et iy
T T
g e 3,80,000
qfH 3,20,000 Pt 50,000
Sfa 3,40,000
6,60,000 | <aR 2,30,000
= g9 80,000 | ¥Teh 150,000
Seh T 60,000 | Ths 50,000
TER 60,000
8,60,000 8,60,000

aﬁ&rﬁﬁmﬁf@awﬁmwﬁﬁ%m%fmtﬁﬁmﬁmw:
()  <fefd = 3,00,000 79 YSft o €9 H AT |

Gi) orfefa =nfa Nftew =1 39 v T ol | w0 f w=fa =
HedTeh USel 1 991 o 39d @19 % Gl a1 < Y o MU T
feram T | fUse 9 9wl <1 3| &9 T 60,000 o |

(iii) FAR T G T 4,60,000 foRaT TR |

(iv)  ofH T Sfa AT ISl 1 FHREISE =10 @Td @it e i st
& YR I o T |

qHCToh QAT T ATRIGRT < YSil Wi qar hifT |

AT
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26. (a) Bhumi and Chavi were partners in a firm sharing profits and

losses in the ratio of 5 : 3. They admitted Aditi in the firm on
18t April, 2022. On that date their Balance Sheet was as follows :

Balance Sheet of Bhumi and Chavi as at 15t April, 2022

A t A t
Liabilities T2 | Assets .
Capitals : Machinery 3,80,000
Bhumi 3,20,000 Furniture 50,000
Chawni 3,40,000 | 6,60,000 Debtors 2.30,000
General Reserve 80,000 | Stock 1,50,000
Bank loan 60,000 | Cash 50,000
Creditors 60,000
8,60,000 8,60,000

Aditi was admitted in the firm with 1 share in profits on the

following terms :
(1) Aditi will bring ¥ 3,00,000 as her capital.

(ii)  Aditi will bring her share of goodwill premium in cash.
Goodwill of the firm was valued on the basis of two years
purchase of average profits of the last three years. Average
profits of the last three years were ¥ 60,000.

(i11) Machinery was revalued at ¥ 4,60,000.

(iv)  The capitals of Bhumi and Chavi were adjusted on the basis

of Aditi’s capital by opening current accounts.

Prepare Revaluation Account and Partners’ Capital Accounts. 6

OR
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(@) A, o1 qen dT wEeR off 9¢T 5 3 : 2 W AU H ATH-gIH el
off | 31 9T, 2022 i 3ehT feafd faemor = Tevr o .
31 W=, 2022 1 TAT, A1 qor =T 1 feufa feawo
SRR 66,000 | HI=T 1,12,000
T foe 59,000 | ¥ieh 1,77,000
g TR 2,80,000
5 00.000 Prafs i
i 2,00, ¥ folu g™ 7,000 | 2,73,000
&1 2,00,000 e 63,000
91 1,00,000 | 5,00,000
6,25,000 6,25,000
39y fafer 1 w1 frefefea st | danfea g ot
(i)  ®H I AR 1 e T 60,000 TohaT T=T AT THT o ST
9T %1 AN AIRIGR < IS Qrdi o HIEIH & FHEIMNG e T
™|
(i) =R W T 10,000 TeIBE T T4 |
(iii) TAT I SET AT AT G AT T kg ok HIEAH F A 39
JehR TRl ST & Toh 3eh! YSf 3o 9T 1Y fauTeiA o1qud 1: 1
H 81 9T |
qHcATeh @Il a1 |IRIgRi o Yot @I dar i |
T @
forereT - 1
(Ter<fiar ferarott =1 feroewoD)
(i) Tr=fatea & 9 freert afomy Ushs Yarg AT 2
(a) d% F T 50,000 T S L
(b) WA % AYahalatl sl T 2,00,000, 9% FRUGHAT 1 fFHA
(¢) SIS ¥ T 30,000 1 Iifer
(d) d% T T 20,000 % < AT fhU
arerat
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(b)

as follows :

Anna, Bina and Teena were partners sharing profits and losses in
the ratio of 5 : 3 : 2. Their Balance Sheet on 315t March, 2022 was

Balance Sheet of Anna, Bina and Teena as at 315t March, 2022

Liabilities AmOUDt |\ sets Amount
Creditors 66,000 | Furniture 1,12,000
Bills Payable 59,000 | Stock 1,77,000
Debtors 2,80,000
Capitals : ]ﬁiisd&f’é"mn fgl,nooo 2,73,000
Anna 2,00,000 Cash —_— 63.000
Bina 2,00,000 ’
Teena  1,00,000 | :00,000
6,25,000 6,25,000

On the above date, Anna retired on the following terms :

(1) Goodwill of the firm was valued at ¥ 60,000 and Anna’s share of
goodwill was adjusted through the capital accounts of remaining
partners.

(i1)

(ii)

Furniture was depreciated by ¥ 10,000.

Anna was to be paid through cash brought in by Bina and Teena in
such a way as to make their capitals proportionate to their new
profit sharing ratio of 1 : 1.

Prepare Revaluation and Partners’ Capital Accounts. 6
PART B
OPTION -1
(Analysis of Financial Statements)
27. (1) Which of the following will result in flow of cash ? 1

(a)
(b)
(c) T 30,000 received from debtors

(d)  Cheques of T 20,000 deposited in the bank

OR

Cash withdrawn from the bank ¥ 50,000
T 2,00,000, 9% debentures issued to vendors of machinery
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(i1)

(1)

(i1)

o

T 999 &l 9§94 § Uhs-qed AHT SIAT 8 hddl avt Sid 3aeh
MY TG HH B, TR e, i AU Sl fGfyr T |

(a) < &M e 3feen
(b) B: HEM AT HH

(¢c) Ueh IY 3T hH

(@ & TE StYE w1

Ife a1 a9 § Y= ¥ AT T 10,00,000 7 TAT Tohel ATH, AT T
25% &, Al I § AN hl ATd BT

(a) ¥ 2,50,000 (b) ¥ 12,50,000
(c) < 2,00,000 (d ¥ 8,50,000
AT

Ifg 3mA Tfieg &1 YoM T 60% 7, Al SEh! JaTaH oy AJITd
B

(a) 100%

(b) 60%

()  40%

(d) 160%

(a)
(b)
(c)
(d)

o
BRI

Rgd o & SH-AT MeH-HAT AT 757 8 ?
e W g

TSl ST 31T

TaTtHed 31U

He IREFIRET T RO ST

{hg JaTg foerul SHId THY Ueh o<l Ul gRI ‘UTH SIS ohl afiehd ol

QT

(a)
(b)
(c)
(d)

forchia nifafarfer & w9 &
EEIRERINICIC R R
o nfafafa & w9 4
TS Td {hg Iedl 5 &9 4
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(i1)  An investment normally qualifies as cash equivalent only when it
has a short maturity, of say, from the date of acquisition. 1

(a) Three months or more
(b) Six months or less
(c) One year or less

(d) Three months or less

(i) If revenue from operations is ¥ 10,00,000 and gross profit is 25%

on cost, cost of revenue from operations will be : 1
(a) < 2,50,000 (b) < 12,50,000
(c) T 2,00,000 (d < 8,50,000
OR
(i1))  If the operating ratio of Aman Ltd. is 60%, its operating profit ratio
will be : 1
(a) 100%
(b) 60%
() 40%
(d) 160%
Which of the following is not a Solvency Ratio ? 1

(a) Return on Investment

(b)  Interest Coverage Ratio
(c) Proprietary Ratio

(d)  Total Assets to Debt Ratio

While preparing Cash Flow Statement, ‘Interest received’ by a finance
company is classified as : 1

(a)  Financing activity
(b)  Operating activity
(c) Investing activity

(d) Cash and cash equivalents
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31. fmfaiReq #gi o1 ot arfafem, 2013 &t g 101, Wi I & FER fRafd

et o g Sfivehi qen 3u-3fiHel § afiehd HINT 3
(i)  Gau AWK
i) g E=

(i) @I 3SR

32. ‘S ITUTGI <hl TUMT HGETT GRI <reiehlal § T FehTH <hl &0al ! FHeifa &
o foru <1 St 8 3

(i) S H dfdd FTIUTAl b TR I TgaI-T |

(i) 39 (i) § IEAH T IUTAT o YhR o fehedil g STUTAl sl AHSST |

33. () (&) aE fafiRe %1 =1e 3F9E 35:1 8 T A 3| 2: 1 7 |
afe wa ufemfE | giEetaE B ostfusar e
JiatTeca ¥eieh (Fawel) AT &, T 48,000 &, A1 ATe] TREF

qT =ATe] QA shl UM SHIT | 2+2=4
(@) =R GHAT FTITA hi TUFT hHITT :

AT o hIY - Z 2,00,000

o9 U9 e - T 1,00,000

F T _ < 4,00,000

Bl R - T 1,00,000

arerat

(ii) e YT I AT I 2: 1 7 | SRV AZd 3g@ hite, fop Ffcriaa

AT | ST ST, T TaT I9H I3 Uied T8l AT 4

%) T 60,000 % HATA HT TE H

@) T 2,00,000 i TR aiEEia=T w1 TE BT
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33.

67/4/2

Classify the following items under major heads and sub-heads (if any) in

the Balance Sheet of a company as per Schedule III, Part I of the
Companies Act, 2013 : 3
(1) Loose Tools

(i1)  Capital Reserve

(iii) Mining Rights

‘These ratios are calculated to determine the ability of the business to
service its debt in the long run.’ 3

(1) Identify the types of ratios discussed above.

(ii)  Explain any two ratios of the types of ratios identified in (i) above

(1) (a) Y Ltd. has a Current Ratio of 3-5 : 1 and Quick Ratio of
2:1. If excess of current assets over quick assets
represented by inventory is ¥ 48,000, calculate current
assets and current liabilities. 242=4

(b)  Calculate Debt to Equity Ratio :

Shareholder Funds - ¥ 2,00,000

Reserves and Surplus — ¥ 1,00,000

Total Debt — T 4,00,000

Current Liabilities — ¥ 1,00,000
OR

(i1)) The Current Ratio of a company is 2 : 1. State giving reasons
which of the following transactions would improve, reduce or not
change the ratio : 4

(a)  Purchase of goods for cash ¥ 60,000

(b) Purchase of fixed assets for cash ¥ 2,00,000

(c) Sale of goods costing ¥ 20,000 for ¥ 23,000 on credit
(d) Issue of shares ¥ 10,00,000
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Read the following hypothetical text and answer the given question on
this basis :

Madhav is a young entrepreneur. On 1St April, 2019, he formed a
partnership firm with two of his friends, Mohan and Sohan. They started
their business of exporting dry fruits. Their business was a successful
business. Now they wanted to expand the business in many other
countries. For meeting the financial requirements, they changed the form
of business organisation and formed Madhav Ltd. The Balance Sheet of

Madhav Ltd. as at 31.3.2022 was as follows :
Balance Sheet of Madhav Ltd. as at 315t March, 2022

Page 35

Particul Note | 31.3.2022 | 31.3.2021
articulars No. > -
I - Equity and Liabilities :
1. Shareholders’ Funds
(a) Share Capital 35,00,000 | 25,00,000
(b) Reserves and Surplus
(Statement of P & L) 12,50,000 | 10,00,000
2. Non-Current Liabilities
Long-term Borrowings
(10% Debentures) 12,50,000 3,50,000
3. Current Liabilities
(a) Short-term Borrowings
(Bank Overdraft) 20,000 75,000
(b) Trade Payables 2,50,000 1,50,000
(c) Short-term Provisions 1 1,50,000 75,000
Total 64,50,000 | 41,50,000
II - Assets :
1. Non-Current Assets
Fixed Assets
(a) Tangible Assets 2 40,00,000 | 22,50,000
(b) Intangible Assets
(Goodwill) 3,50,000 5,00,000
2. Current Assets
(a) Inventories 6,25,000 5,00,000
(b) Trade Receivables 12,50,000 7,50,000
(c) Cash and Cash
Equivalents 2,25,000 1,50,000
Total 64,50,000 | 41,50,000
N N N
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Notes to Accounts :

Note 31.3.2022 | 31.3.2021
No. Particulars Amount Amount
< <
1 Short term Provisions
Provision for Tax 1,50,000 75,000
2 Tangible Assets
Plant and Machinery 44,00,000 | 25,00,000
Less Accumulated Depreciation (4,00,000) | (2,50,000)

40,00,000 | 22,50,000

Additional Information :

1)

(i1)

A part of the machine costing ¥ 1,25,000 accumulated depreciation
thereon being ¥ 50,000 was sold for 45,000 during the year.

Interest of ¥ 1,25,000 was paid on Debentures.

Calculate cash flows from ‘Investing activities’ and ‘Financing activities’

of Madhav Ltd. from the information provided above.
PART B
OPTION -11
(Computerised Accounting )

(i) To safeguard assets and optimise the use of resources, a business 1

(a)  Only tries to earn maximum revenue.

(b)  Keeps internal controls.

(c) Only ensures accurate accounting records.

(d)  Only safeguards assets.

OR

(ii)  Correct ##### error appears : 1

(a)  When a number is divided by zero.
(b)  When value is not available.
(¢)  When column is not wide enough.

(d) When formula is not available.
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31.

32.
33.

34.
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28.

29.

30.

31.

32.

33.

34.
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Correct #DIV/0! Error appears when
(a)  column is not wide enough.
(b) number is divided by zero.

(c) value is not available.

(d) (a) and (c¢) both

(i) The need of codification is for :
(a)  Generation of mnemonic codes.
(b)  The encryption of data
(c) Securing the accounts, reports, etc.
(d)  Easy processing of data and keeping proper records

OR

(ii1)  Where are the amounts owed by customers for credit purchases
found in books of accounts ?

(a)  Accounts Receivable Journal

(b)  General Ledger

(¢)  Accounts Receivable Subsidiary Ledger
(d)  Sales Journal

Which of the following is not a feature of Computerised Accounting
System ?

(a)  Simple and Integrated

(b)  Accurate and Speed

(c) Data audit not required

(d)  Reliability

Differentiate between ‘Generic Software’ and ‘Tailored Software’ on any
three basis.

What is meant by ‘Memo Voucher’, ‘Post-dated Voucher’ and
‘User-defined voucher’ ?

State any three advantages and any one limitation of Computerised
Accounting System.

OR

Explain any four heads from the account group ‘Profit and Loss’.

Name and explain the financial function which will be used to verify the
total interest on a loan between any two periods.
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Marking Scheme
Strictly Confidential
(For Internal and Restricted use only)
Senior School Certificate Examination, 2023
ACCOUNTANCY (055)

PAPER CODE: 67/4/2

General Instructions: -

1

You are aware that evaluation is the most important process in the actual and correct assessment of the
candidates. A small mistake in evaluation may lead to serious problems which may affect the future of
the candidates, education system and teaching profession. To avoid mistakes, it is requested that before
starting evaluation, you must read and understand the spot evaluation guidelines carefully.

“Evaluation policy is a confidential policy as it is related to the confidentiality of the
examinations conducted, Evaluation done and several other aspects. Its’ leakage to public in any
manner could lead to derailment of the examination system and affect the life and future of
millions of candidates. Sharing this policy/document to anyone, publishing in any magazine and
printing in News Paper/Website etc may invite action under various rules of the Board and
IPC.”

Evaluation is to be done as per instructions provided in the Marking Scheme. It should not be done
according to one’s own interpretation or any other consideration. Marking Scheme should be strictly
adhered to and religiously followed. However, while evaluating, answers which are based on latest
information or knowledge and/or are innovative, they may be assessed for their correctness
otherwise and due marks be awarded to them.

The Marking scheme carries only suggested value points for the answers. These are in the nature of
Guidelines only and do not constitute the complete answer. The students can have their own
expression and if the expression is correct, the due marks should be awarded accordingly.

The Head-Examiner must go through the first five answer books evaluated by each evaluator on the
first day, to ensure that evaluation has been carried out as per the instructions given in the Marking
Scheme. If there is any variation, the same should be zero after deliberation and discussion. The
remaining answer books meant for evaluation shall be given only after ensuring that there is no
significant variation in the marking of individual evaluators.

Evaluators will mark( V') wherever answer is correct. For wrong answer CROSS X" be marked.
Evaluators will not put right (v) while evaluating which gives an impression that answer is correct
and no marks are awarded. This is most common mistake which evaluators are committing.

If a question has parts, please award marks on the right-hand side for each part. Marks awarded for
different parts of the question should then be totalled up and written in the left-hand margin and
encircled. This may be followed strictly.

If a question does not have any parts, marks must be awarded in the left-hand margin and encircled.
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This may also be followed strictly.

If a student has attempted an extra question, answer of the question deserving more marks should be
retained and the other answer scored out with a note “Extra Question”.

10

No marks to be deducted for the cumulative effect of an error. It should be penalized only once.

11

A full scale of 80 marks has to be used. Please do not hesitate to award full marks if the answer
deserves it.

12

Every examiner has to necessarily do evaluation work for full working hours i.e., 8 hours every day
and evaluate 20 answer books per day in main subjects and 25 answer books per day in other subjects
(Details are given in Spot Guidelines).

13

Ensure that you do not make the following common types of errors committed by the Examiner in the
past:-

Leaving answer or part thereof unassessed in an answer book.

Giving more marks for an answer than assigned to it.

Wrong totalling of marks awarded on an answer.

Wrong transfer of marks from the inside pages of the answer book to the title page.
Wrong question wise totalling on the title page.

Wrong totalling of marks of the two columns on the title page.

Wrong grand total.

Marks in words and figures not tallying/not same.

Wrong transfer of marks from the answer book to online award list.

Answers marked as correct, but marks not awarded. (Ensure that the right tick mark is correctly
and clearly indicated. It should merely be a line. Same is with the X for incorrect answer.)
e Half or a part of answer marked correct and the rest as wrong, but no marks awarded.

14

While evaluating the answer books if the answer is found to be totally incorrect, it should be marked as
cross (X) and awarded zero (0)Marks.

15

Any un assessed portion, non-carrying over of marks to the title page, or totaling error detected by the
candidate shall damage the prestige of all the personnel engaged in the evaluation work as also of the
Board. Hence, in order to uphold the prestige of all concerned, it is again reiterated that the instructions
be followed meticulously and judiciously.

16

The Examiners should acquaint themselves with the guidelines given in the “Guidelines for spot
Evaluation” before starting the actual evaluation.

17

Every Examiner shall also ensure that all the answers are evaluated, marks carried over to the title
page, correctly totaled and written in figures and words.

18

The candidates are entitled to obtain photocopy of the Answer Book on request on payment of the
prescribed processing fee. All Examiners/Additional Head Examiners/Head Examiners are once again
reminded that they must ensure that evaluation is carried out strictly as per value points for each
answer as given in the Marking Scheme.
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MARKING SCHEME

Senior Secondary School Examination 2023

ACCOUNTANCY (Subject Code-055)
[Paper Code: 67/4/2]

Maximum Marks: 80

PART -A
(ACCOUNTING FOR PARTNERSHIP FIRMS AND COMPANIES)

Q. No. EXPECTED ANSWER /VALUE POINTS Marks
1 | Q. Assertion(A): Increase in the value..........ceeeereervernerverrersenes
Ans. 1
(c) Both Assertion (A) and Reason (R) are correct and Reason (R) is correct explanation of mark
Assertion (A)
Read the following hypothetical situation...........cocevveeesueesnecnnne.
2 Q. Amount credited to the Partners’ Current
Ans. 1
(b) Keshav %1,80,000, Krishna X1,12,000 and Murari 280,000 mark
3 | Q. Amount of profit transferred to
Ans. 1
(¢) Keshav %1,50,000, Krishna %1,00,000 and Murari 350,000 mark
4 | Q. (i) Anuradha Ltd. issued 2,00,000..........c.ceceevereerervereerennes .
Ans. mark
(1) (c) Debited by %20,00,000
OR OR
Q.(ii) Diksha Ltd. issued 4000, 9% Debentures.........cccceevuueee .
Ans. mark
(i1) (c) 20,000
S | Q. Vijay and Ajay are partners.........ccceeeeeeesecsessesesnssassnsases
Ans. 1
(a) Interest on Drawings Account mark
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Q.(i) Manmohan Ltd. invited applications
Ans.

1
(1) (b)X 25,000 mark
OR OR
Q. (ii) Which of the following statement..........c.cccceecurrene
Ans. 1
(i1) (c) It is that part of the issued capital which has been actually subscribed by the public. mark
7 | Q. Part of uncalled share capital that........cccceeeeuereererueceesecnecnenenenns
Ans. 1
(c) Reserve capital mark
8 | Q. On dissolution of a partnership firM.........cccceeeeeerereecreenereenenes
Ans. 1
(b) 280,000 mark
9 | Q. Chavi Ltd. forfeited 5,000 equity Shares.........ccceeeeeuereruereraene
Ans. 1
(b) 230,000 mark
10 | Q. On dissolution of the firm of Ramesh
Ans. 1
(c) X14,500 mark
11 | Q. Sujata Ltd. issued 5000, 7% Debentures.........ccceveeeerereereresaenees
Ans. 1
(c) 22,00,000 and Z3,50,000 mark
12 | Q. (i) Anu, Monu and SONU Were PArtners.........eceereesesceseseesaene .
Ans. mark
(i) (d)5:2
OR OR
Q. (i) Vidit, Sumit and Mita were partners.........cceeeeersereesneeee
Ans. !
(i) (b)5:3 mark
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13 | Q. (i) On 15t October 2020, AMit.....c.ccereererereerereereesaenenanns
Ans. 1
(1) (a) 33600 mark
OR OR
Q.(ii) Vijay, Ajay and Sanjay are partners.........cceeeeesuees
Ans. 1
(i) (a) Profit and Loss Suspense Account mark
14 | Q. (i) Ria and Surbhi were partners in a firl..........cccceeeeeeuereenencnes
Ans. 1
(a) Debiting Surbhi’s account by 30,000 and crediting Ria’s account by mark
30,000
OR OR
Q. (i) Naman, Suman and Mohit were partners
Ans. 1
(b) Naman’s sacrifice 3/16, Suman’s gain 1/16, Mohit’s gain 2/16 mark
15 | Q. Niva, Naman and Nityam were partners.........ceeceeeececevesenee
Ans. 1
(d) 3:2:4 mark
16 | Q. The goodwill of a firm was valued.........ccceceeeeeereeuensresacnenes
Ans. 1
(b) 337,950 mark
17 | Q. Niti and Aditi were partners in a firM.......ceeneecnennscnsecsnecnenee
Ans.
Books of Niti and Aditi
Journal
Date Particulars L.F | Dr. Amount | Cr. Amount
4 4
Cash/Bank A/c Dr. 6,00,000
To John’s Capital A/c 5,00,000 .
To Premium for Goodwill A/c 1,00,000
(Capital & share of premium for
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goodwill brought by John)
Premium for Goodwill A/c Dr. 1,00,000
To Niti’s Capital A/c 50,000
To Aditi’s Capital A/c 50,000 1
(Premium for goodwill adjusted to
sacrificing partners in sacrificing
ratio 1:1)
Niti’s Capital A/c Dr. 12,500
Aditi’s Capital A/c Dr. 12,500
To Cash/Bank A/c 25,000 1
(One- fourth of the goodwill
withdrawn by the partners) =3
marks
18 | Q. (a) On 1% April, 2021, Hitesh Itd. t00K OVeT.......c.eeruecrrnerrnernne
Ans.
Books of Hitesh Ltd.
Journal
Date Particulars L.F | Dr. Amount | Cr. Amount
. .
2021 Sundry Assets A/c Dr. 8,00,000
April 1 | Goodwill A/c Dr. 70,000
To Sundry Liabilities A/c 40,000
To Pranjal Ltd. 8,30,000
(Assets acquired and Liabilities taken over,
from Pranjal Ltd.)
2021 Pranjal Ltd. Dr. 2,00,000
April 1 To Bills Payable A/c 2,00,000
(Bills Payable accepted for part payment of
purchase consideration)
2021 Pranjal Ltd. Dr. 6,30,000
April 1 | Discount on issue of debentures A/c Dr. 70,000
To 10% Debentures A/c 7,00,000
(Balance amount of purchase consideration
settled through issue of 7,000, 10% 3
debentures at a discount of 10%) _X
Working note: B «
No. of debentures issued= 6,30,000/90 = 7,000 debentures marks
OR OR
Q. (b) Disha Ltd. forfeited 500 shares of..........cccccceeevuereunnee.
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Ans.

( Gain on reissue of 300 shares
transferred to capital reserve)

Books of Disha Ltd.
Journal
Date Particulars L.F | Dr. Amount | Cr. Amount
4 4
(1) Share Capital A/c Dr. 45,000
Securities Premium /
Securities Premium Reserve A/c Dr. 5,000
To Share Forfeiture A/c 25,000
To Calls in arrears A/c 25,000
(500 shares forfeited for non payment of
allotment and 1% call)
Alternatively,
Share Capital A/c Dr. 45,000
Securities Premium /
Securities Premium Reserve A/c  Dir. 5,000
To Share Forfeiture A/c 25,000
To Share Allotment A/c 15,000
To Share First call A/c 10,000
(500 shares forfeited for non payment of
allotment and 1% call)
(i1) Bank A/c Dr. 24,000
Share Forfeiture A/c Dr. 6,000
To Share capital A/c 30,000
(300 shares reissued @ X80, fully paid
up)
(ii1) Share Forfeiture A/c Dr. 9,000
To Capital Reserve A/c 9,000

1x3

marks
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19

Dr.

Q.(a) Monika, Bhoomika and Kamolika are partners
Ans.

........

..............

Profit & Loss Appropriation A/c

for the year ended 31°' March 2022

Cr.

Particulars

Amount
4

Particulars

Amount
4

To Profit transferred to Partners’
Capital A/c:

Monika 12,00,000
Less: Guarantee to Kamolika
60,000

Bhoomika 8,00,000
Less: Guarantee to Kamolika
40,000

Kamolika 2,00,000

Add: Guarantee from Monika
60,000

Add: Guarantee from Bhoomika
40,000

11,40,000

7,60,000

3,00,000

22,00,000

By P&L A/c

(Net Profit)

—>(1/2)

—>(172)

—*(1'%)

(1/2) 4«

| 22,00,000

22,00,000

OR

Q.(b) Ananya, Bhavi and Chandni were partners

Ans.

--------------

eoe

Books of Ananya, Bhavi and Chandni

Journal

marks

OR

Date

Particulars

LF

Dr. Amount
4

Cr. Amount
4

2022
March 31

Bhavi’s Capital A/c Dr.
To Ananya’s Capital A/c
To Chandani’s Capital A/c
(Adjustment entry passed for
omission of salary to partners)

11,000

3,000
8,000

Table Showing Adjustments

Particulars

Ananya(3)

Bhavi(?)

Chandni(?)

Firm(3)

Salary to be credited

18,000

4,000

18,000

40,000

240,000 to be debited in 3:3:2

15,000

15,000

10,000

40,000

Difference

3,000

11,000

8,000

Cr.

Dr.

Cr.

Note: Full credit to be given to the examinees if the working has been done in some other

format or through P & L Adjustment A/c.

1+2=3
marks
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Q. Raj, Mehak and Divya were partners in a firm

Ans.

Books of Raj, Mehak and Divya

Journal

Date

Particulars

LF

Dr. Amount

<

Cr. Amount
4

(1)(a)

Interest on capital A/c Dr.
To Raj’s Capital A/c

(Interest on capital provided @ 8% p.a.)

(1)(b)

Profit & Loss Appropriation A/c Dr.
To Interest on capital A/c

(Interest on capital transferred to Profit &

Loss Appropriation Account)

(ii)(a)

Mehak’s Drawings A/c/Mehak’s Capital Dr.
To Interest on Mehak’s Drawings

(Interest on drawings charged @ 6% p.a.)

(ii)(b)

Interest on Mehak’s Drawings Dr.
To Profit & Loss Appropriation A/c

(Interest on Drawings transferred to Profit &

Loss Appropriation Account)

(iii)(a)

Interest on Divya’s Loan A/c Dr.

To Divya’s Loan A/c
(Interest on Loan provided @ 5% p.a.)

(iii)(b)

Profit & Loss A/c Dr.

To Interest on Divya’s Loan A/c
(Interest on Loan transferred to Profit &
Loss Account)

48,000

48,000

1,200

1,200

6,000

6,000

48,000

48,000

1,200

1,200

6,000

6,000

Y2 X6

marks

21

Q. Sunstar Ltd. has an authorised capital of.............ccceecureevuerennes

Ans.

Balance Sheet of Sunstar Itd. (An Extract)

Particulars

Note
no.

Amount (%)

Equity and Liabilities
Shareholders’ Funds

1
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Share Capital 1 5,74,000
Notes to Accounts :-
Particulars Amount (%)
1. Share Capital :
Authorised Capital ’
2,00,000 shares @ ¥ 10 each 20,00,000
Issued capital
60,000 Equity share @ ¥ 10 each 6,00,000 1
Subscribed Capital
Subscribed and fully paid up
56,000 Shares of T 10 each 5,60,000 %
Add: Share Forfeiture Alc 14,000 &
5,74,000 —4
marks
22 Q. Prakash, Aakash and Vikas were partners
Ans.
Books of Prakash, Aakash and Vikas
Dr. Vikas’s Capital A/c Cr.
Particulars Amount Particulars Amount
4 4
To Drawings A/c 20,000 | By Balance b/d 80,000
To Vikas’s Executors A/c 1,50,800 | By General Reserve A/c 20,000
By Prakash’s Capital A/c (G/W) 30,000
By Aakash’s Capital A/c (G/W) 30,000 X8
By Interest on Capital A/c 4,800 =4
marks
By P& L Suspense A/c 6,000
1,70,800 1,70,800

Working Note:
1. Calculation of Goodwill:

Average profits=4,00,000/4= 1,00,000
Firm’s Goodwill= 3x1,00,000= 3,00,000

Vikas share of Goodwill= 3,00,000/5= 260,000
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2. Calculation of Profit:
Vikas share of Profit= 60,000 X 6/12 X 1/5 =%6,000

Note: No marks for working notes.

23

Q. Pass necessary journal entries for issue of 12%

oooooooooooooooooooooooooooooooooo

Ans. Books of Hemant Ltd.
Journal
Date | Particulars L.F Dr. Amount | Cr. Amount
< Z
(a
Bank A/c Dr. 90,000
To Debenture Application and Allotment A/c 90,000
(Receipt of application money on 1000, 12%
debentures of *100 each at a discount of 10%)
()b
Debentures Application and Allotment A/c Dr. 90,000
Loss on issue of debentures A/c Dr. 18,000
To 12% Debentures A/c 1,00,000
To Premium on Redemption of Debentures A/c 8,000
(Transfer of debenture application money and
provision for premium on redemption of
debentures made)
Alternatively,
Debentures Application and Allotment A/c  Dr. 90,000
Discount on issue of debentures A/c Dr. 10,000
Loss on issue of debentures A/c Dr. 8,000
To 12% Debentures A/c 1,00,000
To Premium on redemption of Debentures A/c 8,000
(Transfer of debenture application money and
provision for premium on redemption of
debentures made)
(id)a
Bank A/c Dr. 4,20,000
To Debenture Application and Allotment A/c 4,20,000
(Receipt of application money on 4000, 12%
debentures of *100 each at a premium of 5%)
(ii)b
Debentures Application and Allotment A/c  Dr. 4,20,000
Loss on issue of debentures A/c Dr. 40,000
To 12% Debentures A/c 4,00,000
To Securities Premium / 20,000
Securities Premium Reserve A/c
To Premium on redemption of Debentures A/c 40,000

(Transfer of debenture application money to
debentures A/c, Securities premium A/c and
provision for premium on redemption of
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debentures made)
(iii)a
Bank A/c Dr. 5,50,000
To Debenture Application and Allotment A/c 5,50,000
(Receipt of application money on 5000, 12%
debentures of X100 each at a premium of 10%)
(iii)b
Debentures Application and allotment A/c  Dr. 5,50,000
To 12% Debentures A/c 5,00,000
To Securities Premium / 50,000
Securities Premium Reserve A/c 1x6
(Transfer of debenture application money _
debentures A/c and Securities premium A/c)
marks
24 | Q. Pass the necessary journal entries for the following...........c.cceeueeuuenee.
Ans.
Books of Kartik and Karan
Journal
Date Particulars L.F | Dr. Amount | Cr. Amount
4 4
(1) Kartik’s Loan A/c Dr. 12,000
To Bank/Cash A/c 12,000
(Payment of Kartik’s loan by the firm)
(i1) Kartik’s Capital A/c Dr. 7,500
Karan’s Capital A/c Dr. 7,500
To Profit & Loss A/c 15,000
(Balance of P& L debited to old partners’
capital account in 1:1)
(ii1) No Entry -
(iv) Karan’s Capital A/c Dr. 31,000
To Realisation A/c 31,000
(Unrecorded machine taken over by Karan)
(v) Realisation A/c Dr. 16,000
To Kartik’s Capital A/c 16,000
(Brother’s loan taken over by Kartik)
(vi) Bank A/c Dr. 66,000
To Realisation A/c 66,000 1x6
(Furniture of X 60,000 sold at 10% profit) -6
marks
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25

Q.(a) Yash Ltd. invited applications for

Ans.

Books of Yash Ltd.

Journal

ooooooooooooooooooooooooooooooooooooooo

Date

Particulars

LF

Dr. Amount
4

Cr. Amount
4

Bank A/c Dr.

To Equity Share Application A/c
(Application money received on 1,20,000
shares )

Equity Share Application A/c Dr.

To Equity Share Capital A/c
To Equity Share Allotment A/c
To Bank A/c
(Application money transferred to share

capital A/c, to share allotment A/c and
refunded)

Equity Share Allotment A/c Dr.
To Equity Share Capital A/c
To Securities Premium /
Securities Premium Reserve A/c

( Amount due on allotment)

Bank A/c Dr.
To Equity Share allotment A/c

Equity Share First and final call A/c  Dr.
To Equity Share Capital A/c
(Amount due on First call)

Bank A/c Dr.

Calls in arrears A/c Dr.
To Equity Share First call A/c

(First call money received , except on 2500

shares )

3,60,000

3,60,000

1,50,000

Nil

2,50,000

2,37,500
12,500

3,60,000

1,50,000
1,50,000
60,000

1,00,000
50,000

Nil

2,50,000

2,50,000

Y

No
marks

Y
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Equity Share Capital
To Share forfeiture A/c
To Calls in arrears A/c

first and final call)
Alternatively,

Equity Share Capital
To Equity Share forfeiture A/c

(2500 shares forfeited for non payme
first and final call)

(2500 shares forfeited for non payment of

Dr.

To Equity Share First and Final Call A/c

nt of

Bank A/c
To Equity Share Capital A/c
To Securities Premium /Securities
Premium Reserve A/c

paid up)

Dr.

(Forfeited shares reissued for 260,000, fully

Share Forfeiture A/c

To Capital reserve A/c
(Gain on reissue of forfeited shares
transferred to capital reserve A/c)

Dr.

25,000

25,000

60,000

12,500

12,500
12,500

12,500
12,500

25,000
35,000

12,500

OR

Q.(b) Ajanta ltd. issued prospectus inviting

ooooooooooooooooooooooooooooooooooooooooo

Ans Books of Ajanta Ltd.

Jo

urnal

Date Particulars

LF

Dr. Amount
4

Cr. Amount
4

Bank A/c
To Equity Share Application A/c

shares)

(Application money received on 6,00,000

Dr.

Equity Share application A/c

To Equity Share Capital A/c

To Equity Share Allotment A/c
(Application money transferred to sh
capital A/c, excess money received
adjusted towards allotment )

Dr.

are

18,00,000

18,00,000

18,00,000

15,00,000
3,00,000

Y

3

marks

OR

Y
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Equity Share Allotment A/c Dr.
To Equity Share Capital
To Securities Premium /
Securities Premium Reserve A/c

( Amount due on allotment)

Bank A/c Dr.
Calls in arrears A/c Dr.
To Equity Share Allotment A/c

( Allotment money received, except on
1000 shares)

Equity Share First and Final call A/c Dr.
To Equity share Capital A/c
( Amount due on First and final call)

Bank A/c Dr.

Calls in arrears A/c Dr.
To Equity Share First call A/c

(First call money received, except on 1000

shares )

Equity share capital Dr.
Securities Premium /
Securities Premium Reserve A/c Dr.
To Share Forfeiture A/c
To Calls in Arrears A/c
( 1000 shares forfeited for non-payment of
allotment and first call)

25,00,000

21,95,600
4,400

15,00,000

14,97,000
3,000

10,000

1,000

20,00,000
5,00,000

22,00,000

15,00,000

15,00,000

3,600
7,400

3

marks

26

Q.(a) Bhumi and Chavi were partners in a firm

Ans.
Dr.

Revaluation A/c

oooooooooooo

oooooooooooooo

Cr.

Particulars Amount | Particulars

?)

Amount

X

Chavi

To Profit transferred to Partners’
Capital Accounts : s
Bhumi 50,000

30.000 80,000

By Machinery A/c

Z

80,000
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80,000 80,000
Dr. Partners’ Capital A/c Cr.
Particulars Bhumi Chavi Aditi Particulars Bhumi Chavi Aditi
g (4 i b 4 (4
By Balance b/d 3,20,000 | 3,40,000
i
By Cash Alc |3 3,00,000
By Revaluation
Alc (Profit) 50,000 30,000
By General
Reserve A/c 50,000 30,000
By Premium for
To Balance ¢/d | 445,000 | 4,15,000 | 3,00,000 | o W 25,000 15,000
4,45,000 | 4,15,000 | 3,00,000 4,45,000 | 4,15,000 | 3,00,000
To Current A/c 70,000 | 1,90,000 --- By Balance b/d 4,45,000 | 4,15,000 | 3,00,000
To Balance ¢/d | 3,75,000 | 2,25,000 | 3,00,000
i
4,45,000 | 4,15,000 | 3,00,000 4,45,000 | 4,15,000 | 3,00,000
Working note:
Calculation of New Capitals:
Capital of New Firm based on Aditi’s capital = 3,00,000 X 3= 9,00,000
New ratio 5:3:4
New Capitals in 5:3:4 :-
e Bhumi=5/12 X 9,00,000= Z3,75,000
e Chhavi=3/12 X 9,00,000= €2,25,000
e Aditi=4/12 X 9,00,000= Z3,00,000
Note: No marks for working notes.
OR
Q.(b) Anna, Bina and teena were partners
Ans.
Dr. Revaluation A/c Cr.
Particulars Amount Particulars Amount
&9 )
To Furniture A/c Vs 10,000 | By Loss transferred to Partners’

1+5=6
marks

OR
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Capital Accounts : iz
Anna 5,000 1
Bina 3,000
Teena 2,000 10,000
10,000 10,000
Dr. Partners’ Capital A/c Cr.
Particulars Anna Bina Teena Particulars Anna Bina Teena
4 Z g 4 Z g
To Revaluation By Balance b/d 2,00,000 | 2,00,000 | 1,00,000
Alc (Loss) 5,000 3,000 2,000 | [
To Anna’s By Bina’s 12,000
Capital A/c |4 12,000 18,000 | Capital A/c
To Balance c/d 2,25,000 | 1,85,000 80,000 | By Teena’s 18,000 5
Capital A/c
2,30,000 | 2,00,000 | 1,00,000 2,30,000 | 2,00,000 | 1,00,000
To Cash A/c/ By Balance b/d 2,25,000 | 1,85,000 80,000
Bank A/c 2,25,000 By Cash A/c/
To Balance ¢/d - | 2,45,000 | 2,45,000 | Bank A/c — | 60,000 | 1,65,000
2
2,25,000 | 2,45,000 | 2,45,000 2,25,000 | 2,45,000 | 2,45,000 | | 1+5=6
marks
Working note:
1. Gaining Ratio of Bina and Teena= 2:3
2. Calculation of new capitals of remaining partners:
Adjusted Capital of Bina 1,85,000
+ Adjusted Capital of Teena 80,000
+ Amount payable to Anna 2,25,000
Total Capital of new firm 4.90.,000
New Capital of Bina 2,45,000
New Capital of Teena 2,45,000
Note: No marks for working notes.
PART-B
OPTION-I
(ANALYSIS OF FINANCIAL STATEMENTS)
27 Q. (i) Which of the following will result
Ans. 1
(c) 30,000 received from debtors mark
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OR

OR

Q. (ii)An investment normally qualifies as .......ceceereeeruerseecseecnnes
Ans. 1
(d) Three months or less mark
28 Q.(i) If revenue from operations iS.......ccceceeeverrcscnnrcscnercssnrecsanes
Ans.
Cost of revenue from operations= ¥ 8,00,000 1
mark
Note: As there is no option in MCQ for the answer % 8,00,000, therefore, 1 mark is to be
awarded to the examinees, who attempted the question.
OR OR
Q.(ii) If the operating ratio of Aman Ltd.........cccceeuvreueeruenenee
Ans. 1
(c) 40% mark
29 Q. Which of the following is Not a........cccceeeevercrvercssneccscerccsennes
Ans. 1
(a) Return on Investment mark
30 | Q. While preparing Cash Flow Statement...........cccceevueeueennee
Ans. 1
(b) Operating Activity mark
31 | Q. Classify the following items under major..........ceeeceecseesseecsaensenenns
Ans.
S. No. Item Head Sub Head
1 Loose Tools Current Assets Inventories
2 Capital Reserve Shareholders’ Funds | Reserves & Surplus
3 Mining Rights Non-Current Assets | Fixed Assets—Intangible
Alternatively,
Property, Plant & Equipment
& Intangible Assets 1 X6
=3
Note: Full credit to be given to the examinees for writing only Fixed Assets or Intangible marks
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Assets under the sub head of part 3.

32 | Q. “These ratios are calculated to determine the ability
Ans. 1
a) Solvency Ratios
b)Any two of the following: s
1.Debt-Equity Ratio mark
e Debt-Equity Ratio measures the relationship between long-term debt and equity. na{;?ﬂg
e Debt-Equity Ratio =Lon g term Debts /Shareholders’ Funds and
12
2. Debt to Capital Employed Ratio mark
e The Debt to capital employed ratio refers to the ratio of long-term debt to the total of for
external and internal funds (capital employed or net assets). e;f(fzy
e Debt to Capital Employed Ratio = Long-term Debt/Capital Employed (or Net Assets)
1x2=2
3.Proprietory Ratio
e Proprietary ratio expresses relationship of proprietor’s (shareholders) funds to net
assets.
e Proprietary Ratio = Shareholders’, Funds/Capital employed (or net assets)
4.Total Assets to Debt Ratio
e This ratio measures the extent of the coverage of long-term debts by assets.
e Total assets to Debt Ratio = Total assets/Long-term debts
S.Interest Coverage Ratio
e It is aratio which deals with the servicing of interest on loan. It reveals the number of
times interest on long-term debts is covered by the profits available for interest.
e Interest Coverage Ratio
= Net Profit before Interest and Tax/ Interest on long-term debts 1+2=3
Note: If the examinee has given the meaning in any other way, Full credit is to be given. marks
33 | Q. (i)(a) Y Ltd. has a Current Ratio of 3.5: 1.....ccccereummmmmnnecceeeseennns
Ans.
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Current Ratio= Current Assets/ Current Liabilities \

Current Ratio= 3.5:1

Current Assets/ Current Liabilities= 3.5:1
Current Assets(CA)= 3.5 Current Liabilities(CL)wecuresssressresnrcsnsesanss Y

Quick Ratio= Quick Assets/ Current Liabilities

Quick Ratio = 2:1

Quick Assets/ Current Liabilities= 2:1
Quick Assets(QA) = 2 Current LiabilitieS(CL).ucereessuresnesssercsaesssnnenns Vs

Inventory= CA- QA
48,000=3.5 CL-2 CL
48,000=1.5 CL

2 marks

Current Liabilities (CL)= 32000 .......ccccovveriersrrnnreccssareecssssnsscssssassans V2
Current Assets(CA)=3.5x 32000=%1,12,000 /5 j
Q. (i)(b)Calculate Debt to Equity Ratio........ccccevuerercurrcrcnercssnrccssnnecnns

Ans. ~
Debt Equity Ratio= Debt/ EQUILY.......cccoierieeciiiiieiieieeieee e Y

Debt= Total Debt- Current Liabilities= 4,00,000-1,00,000= 3,00,000 ....... Z

S

Equity= Shareholder’s funds= 2,00,000 ...........cccceerieeirienieniienieeieeeeeeee. Vs
2 marks
Debt Equity Ratio= 3,00,000/ 2,00,000= 1.5:1.....cccccceeverrrrrerversrarcsercsaecsanes _J
OR
Q. (ii)The Current ratio of a COMPANY......ccovverersrerersercssrrcsssercssssscssssscsasnes
Ans.
S. No. | Effect on Ratio Reason
a No change No change in both current assets and current liabilities.
b Decline Current assets decrease with no change in current liabilities.
C Improve Current assets increase with no change in current liabilities
d Improve Current assets increase with no change in current liabilities

2+2=4
marks

OR

bZ3
mark
for
effect
&
bZ3
mark
for
reason
1X4

marks
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34 Q. Read the following hypothetical text
Madhav is a2 young entrePreneuUr ........cceeccesseecsssrecsssnesssssessssnsssssscsanes
Ans.
Cash flows from Investing activities
Particulars Details Amount
4 4
Sale of machinery 2 45,000
Purchase of machinery (20,25,000) )
Cash used in investing activities (19,80,000)
Cash flows from Financing activities
Particulars Details Amount
4 4
Issue of shares 10,00,000
10% Debentures issued 9,00,000
. 2%
Interest on debentures paid (1,25,000)
Payment of Bank Overdraft (25,000)
Cash flows from Financing activities 17,50,000
Working notes:
Dr. Plant & Machinery A/c Cr.
Particulars 4 Particulars 4
To Balance b/d 25,00,000 | By Accumulated
To Bank A/c 20,25,000 | Depreciation A/c 50,000
(Purchase-Bal.Fig) By Bank A/c 45,000
By Statement of P & L 30,000 1%
(Loss on sale A/c)
By Balance c¢/d 44,00,000
45,25,000 45,25,000
Dr. Accumulated Depreciation A/c Cr.
Particulars 4 Particulars 4
To Machinery A/c 50,000 | By Balance b/d 2,50,000
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To Balance c/d 4,00,000 | By Depreciation A/c 2,00,000
2+2%
4,50,000 4,50,000 +1Y%
=6
marks
PART-B
OPTION-II
(COMPUTERIZED ACCOUNTING)
27 | Q.(i) To safeguard assets and optimise the..........ceceeeerererrererennene
. 1
Ans. (i K ternal control
ns. (i) (b) Keeps internal controls mark
OR OR
Q.(ii)Correct # # # # # eIrrOr APPLATS....ueercrserecsseressssresssressssrcsnns
Ans. (ii) (c) When column is not wide enough 1
mark
28 | Q. Correct #DIV/0! Error appears Whel.........oeeeeeeueresesenesesesesssenes
Ans. (b) number is divided by zero !
mark
29 | Q.(1)The need of cOdification.......ceveererererereererereuerenerenesesenenne
. 1
Ans. (i Th t f dat
ns. (i) (b) The encryption of data mark
OR
Q.(ii)Where are the amounts owed by customers 1
Ans. (ii) (c) Accounts Receivable Subsidiary Ledger
mark
30 | Q. Which of the following is N0t a feature........ceeeereererereeereresseresesns
Ans. (c) Data audit not required !
mark
31 | Q. Differentiate between ‘Generic Software’ and
Ans.
Any three of the following differences:
Basis Generic Tailored
1 Nature of business Small, Large, typical
Conventional business
business
1x3
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2 Cost of installation and Maintenance | Low High =3
marks
3 Expected level of secrecy Low Relatively high
4 No. of users and their interface Limited Unlimited
5 Linkage to other information system | Restricted Yes
6 Adaptability High Specific
7 Training requirements Low High
32 | Q. What is meant by ‘Memo VOUCKEI’,........ccceueerererrereressenesesesennes
Ans.
Memo Voucher:
It is a non-accounting voucher. It does not affect accounts of the user.
The entries contained in these vouchers are recorded/stated in a separate register, but not as a
part of ledger.
Post-dated Voucher:
Some software allows the users to enter the voucher for future transactions which are
usually similar as the previous once.
1x3=3
marks
User defined Voucher :
In accounting software there are 23 pre-defined vouchers. It allows the user to define or create
new accounting or inventory vouchers as per the requirement.
33 | Q. State any three advantages and ANY ONe........ceeeeererererersaeresesesesasens
Ans.
Any three advantages : 1x3
(1) Timely generation of report and information in desired format.
(2) Efficient record keeping.
3) Ensures effective control over the system.
4) Economy in the processing of accounting data.
(%) Confidentiality of data is maintained.
Any one limitation :
. . . 1
(1) Faster obsolescence of technology necessitates investment in shorter
period of time.
(2) Data may be lost or corrupted due to power interruption.
3) Data are prone to hacking.
3+1=4
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(4)  Un-programmed and un-specified reports cannot be generated. marks

OR
OR

Q. Explain any four heads from the account............coeevveeesercseensunenne
Ans.
Any four heads with appropriate explanation

(1) Sales Account
(2) Purchase A/c

3) Direct Income

1x4=4
marks

4) Indirect Income

(%) Direct Expenses
(6) Indirect Expenses

34 | Q. Name and explain the financial function..........e.ceeeeueeererrerenees
Ans.

The name of the function is CUMIPMT. 1
This function returns the cumulative interest paid between two periods.
It syntax is

CUMPIMT (rate, nper, pv, start_period, end period, type)

Where

Rate : is the interest rate 5
Nper : is the total number of payment periods.

Pv : is the present value.

Start Period —is the first period in the calculation. Payment periods are
numbered beginning with 1. -
End Period — is the last period in the calculation.
Type — is the timing of the payment (which may be either 0 or 1) 1+5=6
0-means payment at the end of the period. marks
I-means payment at the beginning of the period.
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